Subject: Re: Problem with dates in the Ethiopia datasets
Posted by Ogriv on Wed, 06 Feb 2019 13:05:05 GMT

View Forum Message <> Reply to Message

Hi there Koray
| ran the code and it seems to have worked well.

Interesting to see that child birth year looks like this:

child_birth |
year| Freq. Percent Cum.
____________ A o
2010 | 497 4.67 4.67

2011 | 676 6.35 11.02

2012 | 2,263 21.27 32.29
2013 | 2,098 19.72 52.01
2014 | 2,238 21.03 73.04
2015| 1,576 14.81 87.85
2016 | 1,293 12.15 100.00

Total| 10,641  100.00
| can only imagine that in 2010 and 2011 there was not full sampling.
And | assume that full sampling did happen in 2016.

Is that what you concluded?

Best Wishes
Sandra
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